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1. ESWT XA o A SR TT6l (Fcehl) <hl i Hfemt - o forg Tehiteh 1
ST TehalT T o7 |
AW A AT (HIFET)
technique was used for making bronze statue of Dancing Girl during Harappa
Civilisation.
Lost Wax casting
2. TiqH §g %I T TR TCT 9 d¢ T WTH 3T AT ?
e
Gautam Buddha attained enlightenment on the bank of which river ?
Niranjana
3. NG % AEFHIA o GRH FHHfiRad o & S & 78 Toiar of St o 8 weEmaiG g off ?
AN
Which of the following was new capital during Harshavardhan’s reign that shifted from
Thanesar ?
Kannauj
4. Tfafaa o & forg a1 6t arhd “BUMR (TTieer) WG of ?
HST
Which of the following army’s strength was “Guerilla warfare” ?
Maratha
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5. fafew 3 frafeafea @ @ fora v 61 vy Tm & T&qa o 6 Scgehar fg@Tg ¢
Jsh

In which of the following languages British showed keenness in introducing in Indian
society ?
English

6. U TS <l AT A FTel TUH HRIhAl 1 A fAfEy |
FELA HIgH

Write the name of first activist who demanded complete independence (Poorna Swaraj).
Hasrat Mohani

7. Tr=fafea @ @ fora wesfht sTge™ 1 TgE SR AET AR ?
e o fararforg vt &1 ol |

Which of the following is considered as major cause of Swadeshi Movement ?

The decision to divide Bengal.

8. Tachd Hg i I3 o HETcHT el < i o e g v o
Tegatt 3R qaeTHI o e e Tehal M o 1T |

The main reason behind Mahatma Gandhi’s decision to take up the Khilafat Issue was:

To bring more unity among Hindus and Muslims.

9. WA TR rfufEm, 1935 & yraemi § fafesr seenr & 3tfam srferesr 1 ueh et s o
o 7
el TR R TR < T forse wiferalt

Which was an example of the ultimate authority of the British government in the provisions
of the Government of India Act, 1935 ?

Special powers for governor over provincial governments
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10. IS sctteh <ht vt fferRad | & fergeh g 1 7ig oft 2
quTy =g 919
Forward Bloc was founded by whom among the following ?
Subhas Chandra Bose
11. g i qoar Feffeq g g sR i e ¢
el
Which among the following is the capital of Lakshadweep ?
Kavaratti
12. 9Ra ¥ f=fafaa o @ forg worm W feq 37t Trd o aTaWT 8 S3aeh 37T T S Hehdl @ 7
IR TEES
At which among the following places in India, one can find a wide difference in day and
night temperatures ?
Thar Desert
13. fova =t feran yg@ wret &1 (ergw 9) | fawrfoa e mn g ¢
Into how many major time zones, is the world divided ?
24
14. Tr=fefaa #§ @ o S uftady 1o & 8 ?
BT
Which of the following is not a component of population change ?
Morbidity
15. 39 ST 1 A FaT3C 8“9l U% % B o €9 H AT A1 7 |

AU 991 a1

Name the forest which is known as the “lungs of the planet earth”.
Amazon rain forest
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16.

“feorean < Ty foshra” o 3evd @, frfetRaa | @ i o vaafa s 3 &6 e off ¢
EICIRCELRRIEE
With objective of “Growth with Stability”, which among the following Five Year Plans was

launched ?
4™ Five Year Plan

17.

frferfaa o @ foram st = st o wvg o Wi aTe e e & ?
Fsft &=

Which among the following consists of business owned by individuals or a group of
individuals ?
Private Sector

18.

frfaiRaa @ @ foret wa # &ft@ shifd o e & 9§ IS 8 7
.0, @A

Who among the following is known as the father of green revolution in India ?
M.S. Swaminathan

19.

fraferfaa & @ form stfarfamm 3 St & Tefirentor & fore srd faffa i 2
ST FufAT (SUsHHT T ATUEI IR F&iaer) Jfafa=m, 1970

Which among the following Act laid down the conditions for nationalisation of Banks ?
Banking Companies (Acquisition and Transfer of Undertakings) Act, 1970

20.

1991 ¥ 8 Mi¥ie fifd (W.3.0.) & d8d It 3 FSientor it dget 1 Treifies aiomy
Frafafga g g en ?
vt

Which among the following was the primary outcome of the liberalisation and privatisation
initiatives under the New Economic Policy (NEP) in 1991 ?
Globalisation

21.

FrferRaa o @ i =t wid i g ) g fasivar T 2 2
o=t R

Which among the following is not a salient feature of Indian Constitution ?
Two-tier Government
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22.  WRA Efa9™ % f7w DPSP (U= Aift o Freems foagia) Freferfaa o 3 fra dfaam e 3f@ 9 7
IS
DPSP (Directive Principles of State Policy) for Indian Constitution was inspired by which
among the following Constitutions ?
Ireland
23. N Gfag™ & 3 19 § i |1 IR miva 8 7
a1 3R TR W= 67 TR
Article 19 of the Indian Constitution includes which rights ?
Right to freedom of speech and expression
24. THSHE YUITelt B ShRidTforeht fohereh wfd Iatert it 8 2
foum-wea
In a parliamentary system, to whom the executive is responsible ?
The legislature
25. YA <h! TR U e § fohae & 8 7
RIEES
How many tiers are there in the Panchayati Raj System of India ?
Three tiers
26. T g8 TSR e foha aTe & SUST gt & 7
746 d1C
One horse power is equal to approximately how many watts ?
746 watts
27. Tfefaa o 9 % o v Tt stiufw g e ¢
T ST WY T TR0
Which of the following is not a chemical reaction ?
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Conversion of water into steam

28.

i = O 8 foraem T R 7
LEE]

Pyorrhoea is a disease of which of the following ?
Gums

29.

AT Teh Hdlsh &, I (eforiad § & fohem qran Jar e 2
et
Phloem is a tissue found in which among the following ?

Plants

30.

freaferftaa o @ =im a1 e wr sed 8 wam fear Sar g ¢
TR TS

Which among the following acid is used in car battery ?

Sulphuric acid

31.

freferfga d 9 s o1 im aeg w212 ?

Which of the following fractions is the largest ?
7

8

32.

(6.73)° — (4.38)° B
(6.73)2+ 6.73 x 438 + (4.38)?

2.35
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33.

19 o1 fepa wfsrd 7.6 2 7
40 gfasa

What percent of 19 is 7.6 ?
40 percent

34.

60 T 80 o S hl Tl 31T T3 T A = :

The average of all prime numbers between 60 to 80 is :
70.2

3S.

V12.0409 —/1.2544 =
2.35

36.

“HeTeAT 1 Gitr-foeae 31 8 ?
q + WIEAT

37.

gId’ 3 T’ 1 7Y B
Hihe TR &1

38.

@ § e T - g w1 e 7
T $S T & ST |

39.

‘i’ 1 T s ®
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40. “TH I fqeim A R :

Read the passage carefully and answer the corresponding questions : (41 and 42)

For the past week Elizabeth would come home from work and discover that her apartment
smelled like cigarette smoke. She did not know where the smell was coming from. Elizabeth
didn’t smoke. No one else had the key to her apartment to smoke inside while she was at work.
The smell of smoke especially bothered her because she had asthma. One day Elizabeth stayed
home from work because she was expecting a package. When she woke up that morning, the
apartment smelled fine. At one in the afternoon, Elizabeth went into the kitchen to make a
sandwich for lunch. That was when she noticed the smell of cigarette smoke. She called the
building’s superintendent. By the time he arrived at Elizabeth’s apartment, the whole place
smelled like cigarette smoke. The superintendent told Elizabeth that he was pretty sure the smoke
was coming up through the vents from her new downstair’s neighbour.

The new neighbour was a smoker. The superintendent told Elizabeth that there was nothing to be
done. The building was really old and the vents couldn’t be sealed. It was also perfectly legal for
the downstair’s neighbour to smoke in his apartment. He suggested that Elizabeth should buy an
air filter and see if that would help. Elizabeth bought an air filter but didn’t find it to be enough.
Her asthma was getting worse. Her clothes and furniture were beginning to smell like cigarette
smoke too. Elizabeth decided to go downstairs to talk to the neighbour. She was going to ask him
not to smoke in his apartment. Elizabeth knocked on the door. When he opened the door, a huge
wave of cigarette smoke came out. Elizabeth began coughing violently. The neighbour gave
Elizabeth a disgusted look. “Are you trying to get me sick ?” the neighbour asked her. Elizabeth
couldn’t believe what he was saying. “No, but you are ?” she said.

41. Elizabeth was suffering from
Asthma

42. Elizabeth’s new neighbour lived
downstairs

43. Choose the correct synonym : “Exile”
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Banishment

44.

Choose the correct antonym : “Mourn”
Joy

45.

Give one word substitute for the following :
“one who sells articles at public sales”
Auctioneer

46.

ST SHYAT Bl U 3T i o F=AfetRad O T i a1 I fashed 39 Tl AT & o Tae i
T e d euiar g |
YA :
L gfer| srierestor 3 gret € 8 gt § geg & GHe Sl 9g1 2 |
I SELH BIR-AIE LT hl T § HIh! HHI 3SR |
Y I HIUT R 3T HUT [ 3HHTINE £ |

Read both the statements and decide which of the following answer choice correctly depicts

the relationship between these two statements.

Statements :

L. Police authority has recently increased vigil during the morning hours in the city.

II.  There has been considerable reduction in the incidents of petty crimes in the city.
Statement I is the cause and statement II is its effect.

47.

Y = forereh @ a1, “a8 SAth 5 [l o gehaild |TS o1 TUaT & | T 3v5 91 haht ¢
T

Gopi said to Vivek, “That person is the father of the only brother of my mother.” What would
Gopi call him ?
Maternal Grandfather

48.

fowq 9+ / Find the odd one out :
3,13,17,23,33,67
33

49.

6:10 T TSt 3l B2 6 FE 3R firTe 61 g3 o o1 1 HIv [ HIT |
Find the angle between the hour hand and the minute hand of a clock at 6:10.
125°
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50.

Ife A 1 26 o TI T hitsd [hAT JAT 8, B i 25 o €9 H hifsd [hI1 JAAT1 8, C il 24 H T H
Hifed frm STaT 8 ... 3 Z 1 1 % &9 T Hifed fohan ST 8, @ MOBILE % ot wig
@i |

If A is coded as 26, B is coded as 25, Ciscoded as 24 ......... and Z is coded as 1, then find

the code for MOBILE.
141225181522

51.

T IAHATS V-3 I8 hl ST FATS bl Teh 8 YT <hl @ISl A T A HI 5 3 7
A

A new species of Damsel fly named The Anamalai Reed-tail has been discovered in which
state ?
Kerala

52.

R TR Tori o foher St o Heeefi Had TYg whi 3Tdg ot JUEhR & THTHa foharm R 2
..

Which country’s All-Party Parliamentary Group on Indian Traditional Sciences conferred the
Ayurveda Ratna award ?
UK

53.

INS TH 3 AT R H FIEAT o SRS 3TenTst (et 411) 3R o (fiwft 413) & @y
Th HHET TS ST 1 ST fohaT |
qsH

INS Tarkash conducted a Maritime Partnership Exercise with Navy ships Almazz
(PC 411) and Nimer (PC 413) in the Red Sea.
Sudan

54.

St FrefeTRad o | ford & § Safia et e ?
IYHIRT JTTTEhHAT

‘Jagriti’ is a mascot related to which among the following fields ?
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Consumer Awareness

55. HERIY U feura afeTe < 7 9 ferfen |
HHTST R
Write the new name of Aurangabad located in Maharashtra.
Sambhaji Nagar
56. ffafaa o @ foea ot 3 e, 2022 H, ard Raenfedt & yeeq &1 sgH & foru ared
3Neftes G4 (I0A) % H1Y dreiehicteh Hreier <hl enyor shi ?
fremrm ssi fafies
In July, 2022 which of the following company announced a long-term partnership with
Indian Olympic Association (IOA) to elevate the performances of Indian athletes ?
Reliance Industries Limited
57. 21T UTeR Ao 3 foh U9 H v Y gad 91 wAlfem (Qtdft) 9 St s 3 i 7
A
Tata Power Solar started, India’s largest Floating Solar Power Project in which state ?
Kerala
58. femmaa yew o 21 feaeia 99 1 a1 WER 2022 foh <o1i o off= | g3 7
RA 3R GIH TSI STHTEHT
Between which countries the 21-day joint exercise Vajra Prahar 2022 concluded in
Himachal Pradesh ?
India and United States of America
59, ‘SR HHAN U I 329 &
T 4 ATE JTHIUT STeh Eaeh! o1 GwdTel A i
The objective of the ‘Dak Karmayogi’ portal is :
Enhance the competencies of about 4 lakh Gramin Dak Sevak
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60.

S[ATS, 2022 H, ! §1E 3 Hith! BHe h sreraryg Tferief feraat =t faspfara s & fore fepas
1Y Teh FHEAT 79 R gEdier e ¢
T

In July, 2022, Coffee Board has signed an MoU with whom to develop climate-resistant
varieties of the coffee crops ?
ISRO

61.

frefrRiaa § @ i 91 2w Y & 91 gl s FHRUg ST 9rEn w7
AT

Which among the following countries shares longest international boundary with India ?
Bangladesh

62.

Frefarfed 34 @ = & g5use S TeurE R 7
e

Which among the following is the capital of Israel ?
Jerusalem

63.

frferiiaa o @ 2014 o SR T WRA T 29T TT HH AT R ?
AT

Which among the following is the 29" state of India created in 2014 ?
Telangana

64.

Freafafgada = g foam afwe 2 7
ET T

Which of the following states has the Legislative Council ?
Karnataka

65.

fore fea1 w1 Wl oy &1 foa® o &9 4 TR ST g 2
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8 JeHsT
Which day is celebrated as Indian Air Force Day ?
8 October

66.

67.

fr=ferfiga 3 @ frd YA 1 whiceie W wEI SR 7
£l

Which among the following is also known as Scotland of India ?
Coorg

el AT T LGt 6l TR el 2 |
qish
art is the traditional art of stenciling from Mathura.

Sanjhi

68.

el FafaRga A A fro e Ufa ©a ® 2
30 8 IS T
Volleyball is a national game of which among the following countries ?

None of these

69.

fferfea § @ forw safen 3 wftg g “g @R 31 w1E worfoied fog oo™ fordi 8 7

HeTeA1 meft
Who among the following persons wrote famous book “The Story of My Experiments with
Truth” ?

Mahatma Gandhi
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70. SYHVSA § WHERE N gesft W ey st I AT Ll 8, A1 =
IRIHUSH I T LA & |
Frataa fafeo

Greenhouse gases in the atmosphere absorb most of the Earth’s emitted , which

heats the lower atmosphere.

Infrared radiation

frafafaa 3g<eg ! SMYE® Ygeht I8 TR Y1 (T, 71/ 75) % W GNT |

TG TTT <h SR <hl T 3T o il § oefl & el W 2 | S S e <hl WTfeR SRt o Iha T forg
T Y AIEeh YT ITHER TN Bl & | Tehel—ehiclall A1 UE-TSE H Tetd TR o Gl < 1 & e,
<l FA 3O T HeH &g ST & | & 378 Hieeh Uare Th1 H Iucered HUlehl FHehl il SRl STl & 3
A S T T 38h ToTT T IRt 31T e i Shi IR & W1 & | Wi gy ez T S T o e
ST R | 21 o ToTC U= | 18 ST airedt ggat T, 3mE . <1 hRor oft st €, S 37cret: UgH ol §9 90T
FA & | S SRl o B B Fesl § A hl AEd HEd B | I A g o @ 8, o5 Seh &
IR o off e T & = TR e B | Ffohcmshia SR W <@ o 376, BUSH, =, ShishiA qeil @b
S e veTelt ¥ SAfth ared W AT Wk e @ Sadl § Td Ul il GHTeRT § 8 S § | A W
A A At gere 7, Rt ofd % yure § =fth S0y de R S3d1 § | W A Swuad, e,
SRR, FTeTe], Teed o Tfd <ATReTg 3R ek Td Afties €9 3 stk i 8 | ATt ok wamees
T T 3fug Srore F oft o183 7 | e oft 1o B T Sfiem 3 7 | 191 6 e | I8 SIS Sfad g
T g 1 Hid o1 TIRRR Bl ST 8 | YR o 31eh TSt § a1 o | g Taficht st ot SR sigat ST 2 |
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ShicTal Bl el Whell aeh 3 ST Tgd ehl & | R o hs TS 1 7111 9 T <hl Weft Bt & 3TR gl 37fe

I TR Gl 379 9T &1 8 | hal o W & g gan i 2

71.

3 61 a1 N | HIgh Uit o YA I A U W 2 | U T HR F T 39 I 1 A @l
ST 3ferd TE o ?

AT~ TH-FIR] T & |

72.

HTeeh et <hl ofd g o STe Jashi # i &t yaft yar @ fewrs e 2 ¢
(i)  rETEEHaT R e O wnfiet g |
(i) TEreT o fd T |
(iii) W S @ ST |
(iv) =0 T 6 31ed |
(i), (iii), (iv)

73.

HTeeh erT o1 Yo ohid dTel Y13t bl ford W 1 @ BT R 7

1. IIieh e
2. U 3R g
3. TE.IARE. L s ued
4.  AHEH FEqE
I8 aeft
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74. 3TTIeh! SB H HIGeh G ol HaH hid dTel Sl o [oT¢ T&8 SATGT HH QNI & 7
=1 o -1

75. 9RA % 3T Tl § a1 ot | 59 efieft aEqati 1 S0 sgdt 91 @ 7 | 39 N Te8 yad
RO BT AR ?

TI-9T9 S W &AW 781 ed foh I7eh o= o1 oL @ 8, T i o e Tad 8§ 3 fomm
AT <5 1 IThT S-S B |

frefafiaa 3g<eg ! SMYH® Tgeht I8 TR Y1 (T, 76 & 80) % W GRT |

ST Tt ST hid Te o STelg 319 el otealt sl g Rt o fore e ohtd T8 9T & | 379 SfieH
Torclier et <t T S <6 foTu g ST STEd 2 Toh 1 37 @16t bt 90 vt o fotu fopeft srera st & 31
30 el Few W R 2, o 6 2w o feifta 32 o S1am U Site Heh | |emeT wiNT H SHE S o
T IR o 1 37 371 & 2 Tom S et 319 S1ot Fifira 31 & s o 37T W@ ©id 8, 98 §9d § 3T
Ife 31T 31U 3T F=id 1 F© Fe ITH i o FoIw | o @lied 8 ot foh wfersy 1 amoeht wafa s weh,
g a9 2 | Sa 3Tcushifolss @163 o foTu 2 | sfeh 3TR Ui 3TThe b srerd @i a1 3177 fehelt S1Tg W wifia
T T T@T T U9 S I 8, S GO BidT & 3TN STEwiehdl Ue- W ST & Hehet ST dehal ¢ |
TR R SeTeRt fohe T =Tae o Hae H W@ U A1 Tt i wdl o s fevarent T e v o s
i 2ot § & ST | S U W@ 99 S A1ET 8 a9 Tl O 3T Bl 8 | STRHL I8 S9d JTeUhIeE
e AT FATITBTCA STELd 3 o0 el & | srerel 3 Tl T 3A79eh1 3T o1 35 Gehraret 31iereh Geferd e @
| S Sgd T AT 1 % SR SARGH BT & | §=d 8§ 31m9eh! e aiga hu firetan & iifes avdt srra st §
TS <l HA B ¥ | THH MRl 9gd & A R e & ford ggrefifa off sex 78 @ ardt 2
Eefepiereh STTfieh wealt & fore farer foman S & | e s 3 e & i = 2 o o & s 3=
e umg o gehd 2 | Few ° S e i grara < wner o oft war @ | ey @ 3 o an 9
AT ol TBTE T 370 &1 1 Jig TR & | T e 3R T, 3775, K. 31T et o TRk ade
B | ST, T, e = 9RR anfe # o s 3 forw 3iferes e 31t ST <t tTawarehar gl § 31
Treeh off STy TEe 2, TR Wel ook § fomen e frorer wve © g T 9fi o ekt & | freret fore e S
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TeheH & ITCTed T T8 & 3R 38 St QI U S H T ol O Tk 8 | 39 A&l i ITH &
forw T e e st =nfew | g gon e Tt e S o =1 feherm < g |

76. FTTIE o IMUR R Farsy o frforfaa & frawr & i off vt fmivand & 7
() Traw @ relerrforss 3nfes @& wTH fepu S dehd 2 |
(i) Tae tearafy § geTe o1l BT 2 |
(iii) TfEforN g ufem < w=t & s=rE 7 ufy et few ? |
(iv) T 39 fed 6 armear & oy foes ft war g |
(i) 3N (iv)

77. T 3 U &SR ®9T o IRR @l | 39 3R R A=fafltgd 8 8 9 9 fosrca a1 8 2

1. W93 Wiey ted fFew fean g |
2. Y IE g9d SIRgH 9TeAT B |
3. IME{EEEd R |

4. I Gle FEwR |
4

78. 3TITHE o IMYR W Farsy foh dreehlela otei i aH & foru, faw & fowg o fr=forfaa o &
S T T G B 7

1. dredehrela e bt Wi oY o= g &t 99 g1 Heba & |
2. el aei shi il defepTefia ares e g & Hyra g Tehd 7 |

3. CrHehIeld Wt hi T T 81 §, i1 Sleehlel Mo § 7 BT 1 JIRgH  (Ta)
TR |
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4. wgq w6 gor § SATeT 3T 7, Fifeh fHow § wifgw e g s ms skt sl i

ST |
1,3,4

freaferftaa o @ wamse fos wiv @1 foehey e 1 Seem 78 2 2
Qfer dep @ A W aa

79.

80. famferfiga o @ warsy fo oot @ fererey frew <1 SeET 2 2
IR o Mg GlET |

T G. 819 85 ; Fmfciitad o o (W 3A1er@) o1 37T RS 2011 H 2016 96 B8 991 o S
ek oY <hl 3T H Tepet W WM B 3TN Thel Bie a1t ST oh! §E1 ST & |

Q.Nos. 81 to 85 : Study the following line graph which gives the number of students who joined
the school and left the school in the beginning of each year during six years, from 2011 to 2016.

P 2010 ¥ =5e it WRETE T@n = 3000

E _— Initial strength of School in 2010 = 3000

=

Z 600 230 56
300 ——= 400

£ 200 300

45 100

ki 0

/E 2011 2012 2013 2014 2015 2016

=% / Years

— T T TS E T B A EE —— T BigA AT BT A e

Number of students who joined school Number of students who left school

81. 2014 3 SR Thel H UG- aTct BT oh! F&T ot

The number of students studying in the school during 2014 was :
3150
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82.

fora o 4, ot o <At gt H Thdt Bie aTel BT o T § i g/ free sfisman g ¢

In which year, the percentage rise/fall in the number of students who left the school compared to the
previous year is maximum ?
2012

83.

2012 § 2013 T Whel <hl T § 1 feha wifcrwra 6 gfg /el g8 7

The strength of school increased / decreased from 2012 to 2013 by approximately what
percent ?
1.7%

84. 2013 T o1 § UG ATt BT hl TE&AT, 2016 H Thet H UG aATel BT ohl §&AT 1 Teha Jasra
ot ?
The number of students studying in the school in 2013 was what percent of the number of
students studying in the school in 2016 ?
93.75%
85. @ T 3TaTY % N fopelt off I T wper # WU B ATCl BT Sl IAAH T 1 Thol Bie

TS BT <hl 3TfIehay T & AT fhaT 8 2
The ratio of the least number of students who joined the school to the maximum number of

students who left school in any of the years during the given period is :
7:10

TS E. 86 T 90 : TT TG T STEITH i 3TN 3G T 3T T b IW ¢ |
Q. Nos. 86 to 90 : Study the bar graph and answer the questions based on it :

e =t # Ut g AEEd w5 9T (91 H)
Production of Mobile by company (in Lakhs) over the years
100

&=

80 85

=)
o

63 70
55
45 .

i
o]

30

FeareA (o H)

Production (in Lakhs)

- 2
<o o

2001 2002 2003 2004 2005 2006 2007 2008
T / Years
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86.

2003 § 2004 T HISTSA oh IATEA H AT Farer Frrere fehet off ¢
What was the approximate percentage decline in the production of mobile from 2003 to
2004 ?

23%

87.

2005 3R 2006 T 3 IcdTe FAferiad 3 & form a o I o 37Hd 3dTeH o Sieh SR AT ?
2002 37X 2007

The average production of 2005 and 2006 was exactly equal to the average production of
which of the following pairs of years ?
2002 and 2007

88.

2001 =1 GAT H 2008 H HISTSA oh IcdTe H STTATHA T ghg fepe1 off ?
What was the approximate percentage increase in production of mobile in 2008 compared to
that in 2001 ?

183.33%

89.

Tt o <1 qorT § fore Y ScdTed | wiawrd gfg qew a1feshs off 7

In which year the percentage increase in production as compared to the previous year was
the maximum ?
2002

90.

few 7u fepe ot & Hiarget o1 Scred feu o ot o 3ied Scated 9 Ffres o ¢

In how many of the given years was the production of mobiles more than the average
production of the given years ?
4

T E. 919 95 : gH faftr de shufaat 3k 37 Sufal o Sm S aret =i bl T € T8 7 | difoteht
T EH <1 U STHY T H ShrRiRd qo U Higel st st Srd o feam T g |

Q. Nos. 91 to 95 : There are five companies and we have been given the number of employees working in

different companies. In the table we have also been given the percentage of male and female employees in

account and research department.
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=@/ Account STTIH /
Ho/ wHHar/ Research

Company | Employees | 9eu/ | Wgem/ | wea/ | weemd/
Male | Female | Male | Female

A 450 12 14 9 7

B 700 19 10 11 1.3

C 550 28 14 4 7

D 600 31 9 6 4

E 350 12 18 3 |

91.

e ot fmT 3 ot E o 60% =T & are MBA sl feift 8 3t srq@e favm & e ot
40% SHHTHET o I8 MBA i f&ift 2, a1 huit E H fere shr=niia < o MBA i faifi & 2

If 60% of the employees of company E in account department have MBA degree and 40% of the
employees of the same company in the research department have MBA degree, then how many
employees have MBA degree in company E ?

77

92.

ST T o et B 1 wieet shH=iEl shi S i STTHEM fawHT H ot C o T hH=TEl i
T T 3T fohaT B 7
What is the ratio of the number of female employees of company B in account department

to the number of male employees of company C in research department ?
35:11

93.

HUA A S TGN U hl oA T&AT HUA E o FTHIT HHATT hl el T | T
fera wferera s1feres 2 7

The total number of account employees of company A is approximately what percent more
than the total number of research employees of company E ?
234.29%
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94.

FHH A 3R C ST o T fIamT § $HRitd et go¥ Uil 1 Su-t B 3R D gl o T84
fawmT ® SRia Hat Afee HEATE | 3TITd foha1 & ?
What is the ratio of the male employees in account department of company A and C

together to the female employees of research department in company B and D together ?
208 : 115

9s.

Tt Ul (Ut D 1 Biga) T or@l faum St afgen we=riet 6t $a et @@ i
auft SafR (Ut A 3T E ol Bige) T T8 favmT o qey =it i $t et @@
% off=r =1 R fopaT 2 7

What is the difference between the number of female employees of account department in

all companies together (excluding company D) and the male employees of research
department in all companies together (excluding company A and E) ?
138

T . 96 T 100 : T arferent Tl T@m 37N feim & YR W uie T A, B, C, D 3R E i SHEET
o1 Sfcrere ferawor &t 2 |

Q. Nos. 96 to 100 : The following table gives the percentage distribution of population of five
states A, B, C, D and E on the basis of poverty line and also on the basis of sex.
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ud/ | AT E TSl U A gttt o 3rgura /
State | # SFEEnH Proportion of Males and

wfera / Females
Percentage of | wichi mnaf=/ | el won 9@ sw
Population Below / Above
Below the | poverty Line | Poverty Line
Poverty Line
g/M:w/F | a/M:=u/F
A 30 3576 6:7
B 20 Aoy 4:5
C 25 172 2 %3
D 20 322 4:3
E 15 5% 3 3:2

96.

Ife T5F C o ToTu TIsT T & FW A a1el Teui bl Saet 1.5 e 8, @ T C i 3
S fhat & 7
5 faform

If the male population above poverty line for state C is 1.5 million, then the total population
of state C is :
S million

97.

TSI D ¥ T @1 8 HI AW aTed] AfeA13A ht T 41 ghfl, Ife 98 3 & 6 =g DA
e 7 faferma 8 2
2.4 Tufcrm

What will be the number of females above the poverty line in the state D, if it is known that
the population of state D is 7 million ?
2.4 million

98.

TS A o ToTu et T@1 @ S0 37 aTet Joui shi ST e o1 gift Afg T A o fofe it
@1 H FW A el Afgard 1.8 fuferm g 7
3.55 Tferem
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What will be the approximate male population above poverty line for state A if the female
above poverty line for state A is 1.8 million ?
3.55 million

99, Ife TSA B o foIu il T@n & i<l o qeui ol Sae 2.4 fuferm 3t U9 E % foiw 6 faform
7, @ TSI B 3 E 6l of THET I 6 &
If the population of males below poverty line for state B is 2.4 million and that for state E is

6 million, then the total populations of states B and E are in the ratio :
1:2

100. I T C < Hat Sae 4 Tferem &, @1 Tsa C o T @1 8 39 3T areft Afgersti i e
AT 1A HIT |
1.8 faform

If the total population of state C is 4 million, find the total number of females above poverty
line in state C.
1.8 million
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